BREEHTEZFOMHERERRE GHERLF1—L40) 1/3
REHR - FR28E12B1H (K) ~F 12851285 28H (k) (BN @ N 9LIb/kg)
B — o o ®RER X BERRESE
=o yalb sy mB FREHE (128) tymh134+137 (b994136+137)
[IEES 7 AINTE BT E AT 2 HEF | 27H () ESE 11.1
2|HE 7IoF B EAETLR [ 148 0K) ESE 9.0
FIESES iy L= /RET 6H (N) A& 9.5
AEES ARF+ BT Z[RET 6H (N) A& 7.6
HEES HRF+ HA™ 12H(B) NS 6.8
[HEES FI14F BB LT AHRET 128(8) 14.4 7.6
HEES F Y EB LT AHEET 15H (K) A& 8.2
R EES FrRY HA™ 15H (K) T 11.6
FEES Yh1E L™ 27TH (N) A& 12.7
NEES v A1 E BLmZEITHELL | 195H(8) ESEE 9.6
(HEES v A1 E HA™ 12H(B) T 6.7
[AEES ERt=Vi LT 12H(B) T 9.2
[EIEES ERt=Vi BLmZERTHELL | 195H(8) T 5.9
AEES ERt=Vi EBLUhEENZTE [ 195H(B) T 9.3
15|553% 43 EB LT AHEET 6H (N) A& 9.3
16|55 43 BB LT AHEET IH (&) A& 7.0
17|53 43 BB LI A ST 7H (7K) A& 9.8
185532 43 LT HATET IE B 16H (&) A& 12.3
[EIEES ERt=Vi HA™ 12H(B) T 6.3
EES FoUHA EB LI AHEET 1H(K) A& 11.8
IEES +TAAE EB LI AHEET 13H(KN) A& 16.5
YEES +TAATE EBLUHHANEET SE | 266H(8) A& 5.4
23| BF5 FTAHAE N N 26H(B) IS 11.3
AEES EXF LT ZHE ] 7H (7k) NS 9.8
25| EXF BB LT AHRET 13H(XN) T 13.0
P EES EXF B HEMNEISFIL | 26H(B) T 10.3
EES EXF BT H AN BT 58 (B) NS 9.3
L EES EXF HA™ 15H (R) T 12.2
L EES ExF N N 12H(H) IS 144
B ESES EDE ERL=FEHETILO [ 26H(8) NS 9.2
31[Fp5 —IY E=h S ] 15H (K) EN R 8.5
32| Fp5 —IYy 8L 12H(B) NS 11.6
33[Fp3 —VIY 8L TR AR 7H (7k) NS 9.6
A ESES —IY —AATH 13H(N) 15.7 11.2
R e NTHA AL AE=IRIR NH] 1H (&) IS 11.2
36|53 NTHA 8L 12H(8) IS 9.5
Ry ESES NTTA B LmzEENZFE [ 195 (B) NS 8.0
38| Fp3e NTTA BB LT AHEET 6H (N) IS 8.7
39| Fp5 NTTA BB LT AT 22H (K) NS 6.7
MEES NTHA BB /< HT 7H (k) IS 13.9
INIEES NTTA BLUmENETEE  [198(8) IS 6.9
IV ES NTTA ELTHNITIEE [16H(2) NS 14.0
43|83 NTTA L EHETRE]N | 1HR) IS 7.6
MEES NTHA 81 HA0 AT 5H(H) IS 6.8
S EES NITA BLUHHMESE [ 1HKR) NS 9.1
46| BP3 NTTA LM BEMNESE [ 218 0K) & 7.7
N EES NTTA HA™ 126(B) NS 5.9
I EES NP REDU L =FMA]JIIH] 1H(K) & 6.5
CIESES JOvadU— |[ZF&| 126(B) NS 13.9
I EEES =X a8)lm 9H(£) & 8.1
HIEES =7 — At 28H (7K) AR 14.3
S ES —av BB LT AHEET 12H(8) NS 6.6
53k GtAk. BEk®) |FHEAK BLUHmBEHMAESE [ 7HGK) A& 5.6
FANERERRE AP ERG I CEE 28H (7k) 12.0 7.5
55[ - = CFE [F7 X3 (Zn) £ 12H(B) IS 11.1
56[32 « =D CFE [ 7 X3 (Zn) B8R ERFE = 2] 5H(H) 12.5 11.3
HiNERE R APEREE AN EEG 2H(®) 287.8 9.9
58K - DR [LF T ZLLhE#EIIA 1TH(K) 90.1 9.2
59| R=E hF LU 1TH(K) T 6.5
QIEES hF BB LT AT 1TH(K) T 8.8
FIEES hF BB LT AT 9H (&) 7.7 7.0
[HAEES hF BB LT AT 12H(B) T 7.6
FIEES hF BB LT AT 19H(8) & 9.7
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RERE : FRi28FE1281H (KR) ~FRi28512828H (7k) (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
=o yalb sy mB FREHE (128) tymh134+137 (b994136+137)
64| RE kS BB LT A ST 7H (7K) A& 6.5
65| =E kS L Th= A HET 1H (K) A& 6.4
[[HEES hF BLLh = HET 15H (K) ESE 8.1
67[R=E AES mE™ 8H (K) NS 8.3
68| R =E AUy 811 HA0 BT 6H (N) A& 8.2
[FIEES F4 BB L T 2T 6H (N) T 8.7
[NEES Fo4 EBLLI T A HIET 5H(H) T 10.8
HIEES FJ4 EB LT AHEET 8H (K) A& 5.8
[AEES Fo4 B LT EHANBT%S & [ 195 (8) NS 6.7
[EIEES Fo4 ELLUHEMNETLS [ 16H(R) NS 7.0
IAEES Fo4 ESLLh = FHET 1H(K) T 5.9
[HEES Fo4 8L =FEHATEE | 20H (CX) 6.8 5.9
IAEES FO41 a8l 16H (£) ESEE 8.9
EES FO41 N N 12H(B) ESEE 7.5
[HEES IRE ELLTERIDTA | 16H(R) T 8.8
[EIEES IRE BB LI T 8H (K) NS 7.1
EES IRE 1L HAN BT 95 (£) 9.4 6.7
YIEES IRE LT HMBEISE | 6HCN) T 6.2
FAEES R A= 27TH(N) T 13.1
FEEES I\ Z LY — BRI AHET 7H (7k) A& 6.0
FAEES 1X WhES 7H (7k) A& 1.7
FHEES 11X 8L 68 (N) T 8.0
FEES 11X L ZIER] 5 7H (7k) NS 5.3
FEES 11X BB LT AHRET 1H(K) 27.3 11.1
FEEES 11X BB LT AHRET 78 (k) T 11.1
FEEES 11X BB LT AHRET 8H (K) 13.4 10.5
ENEES 11X BB LT AHRET 95 (£) NS 8.0
CHEES 11X BB LT AHRET 20H (N) T 9.3
EAEES aX BB LT AHRET 218 (k) IS 8.8
CEEES 11X BB LT AHRET 27TH (N) 25.9 11.8
EAEES 11X BB A BEK 27TH(N) NS 10.1
EHEES 1X BRI THEEAN 16H (£) NS 12.9
EHEES 1X I IGE=y i 95 (£) NS 5.3
EHEES 1X LT FEXLET 13H(KN) NS 7.6
EHEES 1X LT HNAETSE | 1HCR) & 7.8
CEIEES 1X BLHHEMEITNATE| 198 (8) IS 7.1
100|R=E 1X —ATH 28H (k) NS 10.8
[EES aX WNEEES R THT 28H (k) 50.5 11.2
102|R=E D= SRR 95 (£) NS 1.4
103|R=E >3 5HE 22H (K) NS 8.8
104|R=E >3 EkE Al 5H(H) NS 9.2
105|R=E >3 BB LT AHRET 68 (N) NS 10.8
106|RE >3 8L mh = FHET 12H(B) NS 7.5
107|R=E >3 B L= A LLH] 2TH(N) NS 9.5
108|R=E >3 EFHE 208 (N) NS 9.0
109|R=E >3 BE™ 6H (N) & 8.2
110]|R=E = BE™ 16H (£) NS 11.3
1M[Z0f 55 L HNTER 2H(®) & 6.8
112[Z 0k 55 EBILUHENEHEA  [12H(B) NS 8.4
113[Z 0k 55 BB 5 A0 H] 208 (N) 17.7 5.5
14| Z D = BB\ HAN AT 208 (N) 32.2 7.6
15| Z Dfk 52 BLHEMEITATE| 198(8) NS 8.0
16| Z DR 1=l L HNTER 2H(®) & 6.6
M7 Z0fe =1 BLHEMEITNATE| 198(8) & 7.9
18| Z D fk 1=l HA ™ 15H (°K) NS 8.0
119[Z D fk ER 8L T EE T 268 (8) 141.9 8.7
120[Z D fk bR BB E AT 1H(K) 55.9 4.7
21|20k BER B ERITZHE [ 266H(B) 100.9 5.5
122|ZDfb BER ELTHNETEER [ 13HCK) 130.5 5.6
123[ZDfk BER ELTHNETEER [ 15H0CK) 60.9 8.3
124 Z Db B+ BRI LTh Z R E] 5H(H) T 8.6
125 Z Dfb B+ HA ™ 5H(H) T 12.4
126|Z DR B+ — AT 28H (7K) & 8.2
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BREEHTEZFOMHERERRE GHERLF1—L40) 3/3
REHR - FR28E12B1H (K) ~F 12851285 28H (k) (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
=o yalb sy mB FREHE (128) tymh134+137 (b994136+137)
27| Dfe e g BB LT AHRET 14H (7k) ESE 9.9
128]| F Dtk 8% (XIXUDK) |BE]IT 1985 (B) 19.2 10.1
129| F Dtk 8% (XFIXU0K) |BE]IT 1985 (B) A& 8.7
130 DR ¥R EBLL 7 50 HRET 6H (N) NS 7.6
131 Z 0k 2o BB LI T AHET 95 (£) NS 5.5
132[F o545 (88 [EfT| 1H(K) 581.1 8.8
133[F ot o545 (158) [Ef™| 9IH (&) 16.2 9.0
134| Z D A2 ag)lm 7H(K) ENETE 8.1
135[F Dt A2 —_ AT 2H (&) 16.3 9.0
136| Z D NF=ZY ELLUTHHEANE E&E | 2H(®) NS 7.2
137 Dfe FLui BB LT EHATET Ex&E | 6H (X) T 8.3
138|F Dt T WhEM 28H (7K) A& 9.6
139|Z D 1th T BB LI AHEET 2H (&) 10.9 1.4
140|F D1t T BB LI AHEET 5H(8) A& 7.6
141 Z 0k T EBLLI T AHIET 7H (K) T 8.4
152 Z Db T EBLLI T AHIET 208 (:N) NS 9.5
143|F Dfth T BB LT AHEET 20H (W) 8.4 6.3
144 F D1t T BB LI AHEET 20H (W) 12.2 9.3
145|F D1th T BB LT AHEET 28H (7K) 10.4 6.3
146|Z Db T BB AT 22H (R) 19.4 8.4
147[F Dtk i 8L = A HET 6H (N) 14.3 9.4
148 F Dt i EBUHEAHITEHEE| 16H (&) A& 5.4
149(F Dt i EB LI AT 13H(N) 11.7 8.2
150{ Z D fk T BB AT 12H(B) NS 6.5
151 Z Dk T BLUHmENETARE  [1580K) T 7.8
152|Z Dfb T ERLTHHNE EEE | 6H(CKN) T 8.2
153|Z D fk T LU EAETLLSR [ 148 0K) NS 7.0
154|Z D fb T B LT EHANBIAZES [ 195H(8) T 12.9
155|Z D fk T 8L = HET 195 (8) T 6.1
156| Z D fk T LT FHITSE 58 (B) 16.2 7.0
157|Z Dfb T EBLLI T A0 E] 9H (&) NS 8.2
158|Z D fk T LT HMBEISE | 1HCK) NS 5.3
159|Z D fk T LT HMBEE 2| 5HA) NS 5.7
160(F Dt i I L h = RET 5H(H) 13.6 5.7
161(Z Dt T ag)llm 8H (K) 29.4 9.3
162| % D1t T ag)llm 16H (&) A& 8.6
163|Z Dfk T a8)lm 22H (K) NS 9.0
164|Z DR T a8)lm 22H (K) & 8.0
165(F Dt T ag)llm 22H (K) 17.5 7.8
166 Dtk i H#3 T 9IH (&) 7.9 1.7
167|Z Db T RBEE 218 (k) NS 7.4
168]|Z Db TYRU EXhm 12H(8) 45.2 14.0
169| Z D fk YRV B L AT [ 158 (OK) NS 7.2
170[Z Dfth TYRU B8 Lmh =FE AT 266 (8) 50.0 8.2
171[H28 =K XK (%K) HA™ 2TH(N) NS 8.8
(AETEES X (BX) RS 19H(8) T 6.4
173[H28F =K X (BX) BRI AHEET 206 (N) NS 8.3
1T4{H28E K X (BX) HA™ 14H (7K) & 8.3
175|H28EE K H5XK (BX) |[WhEH 28H (7k) NS 8.8
176|H28EE K H5XK (BX) [HN™ 158 (R) & 7.8
1T RTEMFIEXR K (BX) FHAYER/\EF BT 9H(£) & 5.6
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